Talmud Navigator

disputants-2op9m ¢
central point for summary and review-771m 213°8% N2 TP O
insertion of an earlier segment-n»TIp 7PED YW IN2MW <
story-mwynO
key-xapn:

statement-xva: W
challenge-x>unp ¢
question-moRw
answer-y1°n !
proof-RY m

Y912 RNPI-TA0

LAkl

ANINRT IR )

Talmud Navigator

vnoTYaTaA2

R

SN95N N33 2P NRAWY WP 7 PR 22NIRAM (1" 1PYWY) TR 90N NRA T 7T RAw 100

STt DY AT 07°HAN 07PN MARIY 7712V DRI T 7990 NRAW 71

2117220 370 721 (2 2°970) MR L3I0 0K T ATV XA

797 03737 QYA 9K 1T DR 7R X (0 XIPM) 2037 T AR AR 02373 N2 97 WY M
oW 77V DRV WY

T2V OTP KR

.2°N3 WY MWL 22N 1 .3 DROMT WY 737 22037 ,INYT Xp20 K?

72V R 7

TN 1127 2°N37 ,INVT RPYO R

RAR 710 KA NDN0T NI K1

RO RNM T ARTIN 7712V ,X72007

>IR%) DRI 232 Y R IR MY (1 92723) 2207 © 0°30 N2 MR 29w oUW IR XD )
.09W2 MY DR T2 ' (" 2°Dan) MR ,avew T XIg TN wITRaT 1972 .007aR

777700 RN PNPDI NYAW 1707 Y 775N 11PN ,0°KA1 0D 0N ,0PIRT DWWV ARDT RN

01701 M DNow

R);7 192 WITRA YW I02WA 9907 MOR TR IR

150w M = ' MMaa Honk aR1 Tk nhan 9o ynwe 1 mmas Yo n ('R 0°90n) 22037 R
.n2an 93 ynwnh

SMYHR 927 RT

>3 1% 00 ("2 21R) MKW APV T WP T ORT NP KT N2 WITRA OW Inawa 10007
392> %2 UK K DR 727X

>27 MK 737 92 72 720
e

RPINWR 7717 81O - 7200 717 77 (7"0 0°97N) 2°N37 R

993 WOR AT 221 W7
WX 777 20K ,R02)
221 7123 79D

PN T XPINWR Y202 T 797 :XITYMA IR

(IR 17T 27 ROR 7D

191 XYY XD 719 9y aRIp

Nom

77,9902 PNI9T NRT 203 (3™ MAW) ana 2°N31,8°073 IR 21 RO 2°N9 7797 37707 XN
.7D02 IXI AX - 7902 27

X2

ROV 1Y K27 07 ARIP 77937 RAT X

N7 XPYO R?

= 191 2P0 IR 1 R, 297 DA 277~ AOWN KD MR RIAWD 2293 912097 (7" 2°127)
.92

XInT

.31 XY XD D190 Rp

nto0n

217N 72 P RIPR 727007 ROR

79 5y 1n

.10 772 °7P1 21N 72097 ,KIMX KD

191 T¥92 MY MR PR AR

XY R WD 922 7R NORR RN

1 Tmy

n'n7an

7

P

P

P

P

P

P

P

e

e

g

g

g

g

P

P

P

P

P

P

P



Talmud Navigator

disputants-2op9m ¢
central point for summary and review-771m 213°8% N2 TP O
insertion of an earlier segment-n»TIp 7PED YW IN2MW <
story-mwynO
key-xapn:

statement-xva: W
challenge-x>unp ¢
question-moRw
answer-y1°n !
proof-RY m

Y912 RNPI-TA0

Talmud Navigator

hlalial ART IRNA b IR ¢ T T S Ny B B e B 4
INRT PRI 27
o T ! o .
270
P07 N A i
N 77 2P MWK 729057 RN ! mw
79 9y 17 e w
PP TY92 72N0W | YR 227 IR RAX 020 ! O .
RP90 ORT IR 779K OX 19 XAPN (A"7 DOWRI2) MR - 79R 2p0Y KT TIN2 WITRT IR PIn
. . . . . 527 MR RAR 027 R -
= ORIRP MR 2PYY 1D RPN RIR LD WM P8I 10 RPN T OR 2pY Y Xp mam? v . O m
ORI TR i
LRY KD TN 00T NPY NNV D009 ARp PN .. o m
IR ROR XMT KD R ! m
LRYT DN NP, DY Ny ,001av 113y .0°0%Y NPuo) .y o mw
19 902 1 2001 1392 1R7INNRY 17 M RHR PR 27 ,°97 R i mw
ANPR P9 = DRIMWY 277 WANPK *91,RN720 1PR2INN KX ! o m
TINRT DRI 21
ws B3k o 1w .y 0 m
27N
R? = XY 99197 ,PR = 2219 DO anp XM i mw
DRYD13 12 VAW 1273 NHRT IR ! O m
2 AW 127,707
PN XDR 1202°W 1707 XY 0790 AN 21 AT o m
phainleb}
BRY1R3 12 P 1273 7990 i mw
02N23 712 27007 7973 2R ,0°750 IRW ~ 2971 37 IRIAR 717 DR9A 12 NIYRY 1273 7297 7R OR , o .
.10 Ynwnp = X2 XX : ’
191 RY PNWR YRR 19 L IR
PNIRP XM YT KD RN o .
PR WYY DOWIR AT TR ! m
NPYT o1 0% 212 D2IINWNART 1IN WK X121 79 pnn i .
.RD%1 10791 RPN 3 KT = RO 10791 ARIP NN ROX [x3227] v m
131 RY? PAPO XP L IR
527 °P0D P0D M9V M7 11279 3179 TIARPT 227 22T RNARY TIWAY ,PAT0 R 1127 VT N R 00 .
1°317°0 P10 P12 ONK 0K TV 1 '
9722 RP 77 X123 R 779 72K 27 027 ROARD TWAW NN ORA 1127 VT N7 KD 00 .
.I39A90 197 0K R TV 1m0 ’
7723 R332 7K DNAT 027 92T RNARY Myaw . Tanm 72090 (17 °9wn) ORn 1137 VT 17 XY 00 .
.JIYWa 90901 A0 2N TV 12 78R L0371 1o AT ’
72 19 7w (7" 0°90N) R 1127 08T N R 00 mw
SROZIR TWY AT PW 0D R LRIV RIIT RPYLRYY RITT 0TI RIVIR T KT RIDT 1N 9272 09 o 0 .
TR MNAT 227 02T RNARD My , AW RORLPI TARLROY (7' WPYR) X1 1327 297 17 X2 00 o
RN "BRDY RPURY PP :An12anR ’
LRYY XD~ POIPD LRE? T PR ARIP RiRR R o0 m
27 DWR IR KIM 020 -
JWRAY NAT 7210 DR N2 270 7AW OX ,PAT°02 AR o
Ay o
2 Tiny n'nan



Talmud Navigator

disputants-2op9m ¢
central point for summary and review-771m 213°8% N2 TP O
insertion of an earlier segment-n»TIp 7PED YW IN2MW <
story-mwynO
key-xapn:

statement-xva: W
challenge-x>unp ¢
question-moRw
answer-y1°n !
proof-RY m

Y912 RNPI-TA0

Talmud Navigator

hlalial ART IRNA b IR ¢ T T S Ny B B e B 4
LTI 920 DWR IR XM 2370 7990 A0 21 = O mw
RDIDY KW RAPT IR ,RDIDY ORPT RI1 L7210 IR I0AY 771D oY 27 MR A m
YWY P37 D03 1D ORT ,RD07 XKW [AOY 27]:5 nr ! O mw
T°M7° 227 IBK RIAX 20 -
R117 93275 719770 3 O m
127 MK RIAR 72
LR 927 7997 PR ORI +u O m
577 11nn X102 = 0 mw
2277 7107 RN°720193 = O mw
R °272 71997 127 MR RITD 2 +u O mw
LR 927 7997 PR ORI + = O m
NDDX 2INn °2°2 2 = O mw
R °272 719977 PR Eh) +u O mw
.RI °270 7900 ORI . " 0 m
SRTMD WINT R DRMWT , 7772 °2° 277 0P A0 21 ‘- O mw
VYW TY IR 12 0IMIR HKR 77°02 12 A7 220 DWH L,ANNR DR PR WTPY 02 N 12 97 22N am -
WY N7 TIR [77°n2 '

770272 AT 0210 190 Sxmp| o= m
LR = 03NAT 131NN R IRIPY,PRIOD IR NPNIX 1910 72 LR 127 1un g i
72100 = IR ORI ,7IWD " 7371 1AW OR ,MYIPR I MWWIA DMK 72 70 2nn m.0 i
INXPN TR ,I7192 KO ROWP R ! O m

MR RP KR ,PI0D NI RIPR T2 MR 7219 IR RIPR MR K? TR 210D KNP 72 0w
99 MR, M QY R RIPR MR KD PR INRIPW 2R XYM 10197 102D 01O LTPR) 210D 327 1un o mw

.7910 T AN NN ANR R XN = 7780 RIPR
131 RY> DImINn L IR R
01m1nn M7 >0 A mw
L1977 T P 17977 231 ,R720 TNTARY YT KDY W 70 1P ,7°0 K91 PN ,0%1 k91 07 PR 20 v mw
.31 RY? 129 12 OR L7373 ,AwNT ,7amd 7 L IR R
P07 o0 A i
72 2N21 XPI0D KPIOD 770N KPT X ! i
RI7 79 9Y P17 081 129 11D D i o
.19 IP1 RPI0D RPI0D 2037 ROX ! mw
INY M B mw

27 91X 1297 °27 MRM -
L1213 I 127 190 i i
127 IR RO N2 XA
7919 712105 RANW 719778 ST WIRD MRT WD 120K B mw
.19 2021 ,XPI0D RPI0D %7 72 ) AR 72°A AT ,RON v mw
3 Ty n'nan



Talmud Navigator

disputants-2op9m ¢
central point for summary and review-771m 213°8% N2 TP O
insertion of an earlier segment-n»7p PEOD YW IN2M <
story-mynO
key-xapn:

statement-xva: W
challenge-x>unp ¢
question-ToRw A
answer-y1°n !
proof-RY m

Y912 RNPI-TA0

Talmud Navigator

hlalial ANNRT IRNA b IR ¢ T T S Ny B B e B 4
a7 92 12 7272 0 ¥von X 3 m
737 92 92 7120 KT -
.aN377 7 KOW DR MR 21057 OXR e o mw
M %37 MR
IR T MINRT ’DT ! O m
9272 7727 MR LR -
.2N317 1A KW DX NIR 21037 MOR Ol<|
A0 227 MR TN
NYAY *371 MR 220N
IRAPY 1297 712001, QW I R L,RO0VA AW 12yh Toaw PR Y202 v e o 0 m
LT3 W vy (7 °9Wn) 02 OYpRT RN 227 CINY 272K 21 ! O mw
PP 027 ’an 120
P73 1w TOYDY OR1 A mw
2noTn
N R 21]0° MR
LPR7 937 DXR I AWM T 097 199K 1R 12 Y YN (A1 99wn) 173 22037 ,77I0 1137 1R fnom ! O mw
2N57 12 ROW 0°I90 203 M7 PRI 217 ROWR K701 27 o w
.AN377 1 RO DAR NI 23057 0K 107517 1K T2 XX, 770 %Y 2% 7912 7700 90 IR [R70M 27]:9 R o m
2N RA 227 KA L,IPER 3T PAWPAT 9791 < 79D DY aNNW MK 7910 7707 93 IMRpI 3 m
DIRW PR NYY ! O mw
2N A ROW MNM PYON 203°17 127 12 7272 KW AR [*ax] o 0 mw
.RIN R 0D T IR0 u mw
MR M 027 ,R0INT am
.0 MI2IX PRI ,AN7 T K92W Mans1 M) 1han O mw
P27 own
.AN57 1 ROW MAN31 TR TR L0 PIIX T NN DIV PR PR T PYON (RN = O mw
RAYY ORn A .
.03 0N ! O mw
.13 02 7215 AN LIRS
XnD - 00 = m
AW KNP0 37737 112 92 7727 9K ROIPD [Mn 9292 M) ‘- mw
Xmp - 0ImIp ‘- w
4 Tny n'nan



